0+040.00

0+010.00

110N

o ZJA0N|

o sauonypp

2.00%

wie

0%

8I1EC

601¢C

07

velee

%80

2.00%

8C1EC

000

elee

000

velee

we-

&I

05°¢-

¥EeT

00¢-

Gelee

00¢-

eeire

107~

eeire

-

eIt

%IEC

op | r—

Pl

= =
|

=
3
|

233

23

231
230

090

PALYA

TAVOLSAG

g

Be°0Ce

08°¢te

0001

9L7ee

A E]

oo

062¢¢
062¢¢

099

99°7¢¢

656

A

6¢°7¢C
0veee

eveee | 88l

et

Geee

9reee
Grege

\%

©| o=
S| =
N e

o
=
=1

BT
8T
BYIEC

o~y

et

000

N R N

57

[rege
9r'ece
v
et

——
| oo M
=S| S| <=

I=3
&
=

BEE

il

166¢

899~

oreee

8CCEC

e

Velee

8L~

(=3

=

P=
|

o
=
T

234

235

23
231

PALYA

TAVOLSAG

ke

TEREP

=

=

=
[

TAVOLSAG

0+020.00

5| s 8 w | 8
sl 2 T 5| =
g2 g £ ~
w = = (== (=}
> . i
- =
5 B - S
I B
| B = =
S| 8% 55
L ED &
S| E O ,
— = T i
” SIE S :
DO = c T
~ ,m \O o k]
K 8|8 a| ©
W €y £
g o~ m % S *v
” o | & O L e >
N 2= 2% o
”l 5 g oo 2>
) S| @ S8 2.
g 2|8 M 0 |
8| =3 S et =2
” 5| & IS N (&
® |2 o a %
S| . &S m T
O | @ [%9] 5
c |l = <5} €
W mu > K °
S e At
S| = 3
S| B o s
S = /LM | =505
S| B = nm\\»wU
£ 5 g
3 = :
‘ ~ S £
5 3 } g
ol i G kS 3 =2
B = H Ry
RAVAD
rice | ool 8iec | oo
AN
\ M, T | 068
\ , 6715 | 601
! I |0t
M A
| 167 [ 909
,,, SIC | 195 16T | 1S
Lo sowogep ]
\ i IS ANE]
| e | et
m wiez | oot
: o SuOppR B | 12T
" 19180 | 00¢ gL | ore
," o ZIAQN|
W [} ::
S m S
S | 3 6L | 1
,ﬂ - EAST
| | ——
| = ,ﬂ AN
IR I I = N N U (S
OLIET | 000 | 8¥sT [000 = £5I67 [ 000 [ 1576z | 000
9918 | 560~ S G Vel
6715 | 900~
28 = , |
mﬁ IcT |l S : 67187 | S0
99IcC | 081~ m,
AN 65187 | 00%-
m i T | st 09187 | 795~
wieL | - AR
AN
WIET | 19 \
\ SqIeT | 209~
G618 | 9078-
68757 | 18-
6167 |/ 606
16157 /166 TN
) ) e = q A , ) ) " = d
< < o ] q g | 6k | - N N o o 2 | 6060 | 068~




